Valve and Line Accessories

. Eliminator, Air
+NMC Technologies Truck, TOA-1

Parts List
Issue/Rev. 0.0 (9/12) Bulletin PO03006

Float Kit -
Ellerbek,
Germany

The Most Trusted Name In Measurement



Item Description Qty. Part Number

1 @1 Basket, SIraAiNEI ......ccoieeeeee ettt e e 1 538334-XXX
2 2 70T | PSR 1 519522-002
3 Bushing, 3/4" NPT Male x 1/4" NPT Female ............cccccoeene 1 006433-401
4 (O 1o IS (= 1 1T SRR 1 513516-001
5 o[0T N 2 065157-001
6 Flange, INIet.........ooooiii e 1 513517-001
7 1 [0 = | N 1 538160-001
8 @3 Float Kit (sourced from Ellerbek) ...........cooceeiiiiiieiiiiiinnnns 1 538200-100
9 @3 [ (0 = | R 1 252076
10 @3 o 1 538171-001
11 @3 RiNG, RetaiNINg.......cooiiiiiiieiiieeee e 2 640958-402
12 Head Assembly:
BUNA-N.. oo 1 538190-001
V41 (o o TS 1 538190-002
o = TR 1 538190-003
13 @2 Block, Seal:
BUNa-N ... s 1 552996-001
V1 (o o N 1 552996-002
B P R e 1 552996-003
14 (O00)Y/ Tl = =T o [N 1 537645-001
15 + O-Ring:
270 ] F= N R 2 640829-021
V1 (o o N 2 641276-423
B P R e 2 641559-420
16 @2 Screw, #8-32 x 1/4", Self Tapping......ccccceveereeeeeeiiniinnns 3 644367-402
17 SCrew, 1/4-20 X 112" ..o 3 006775-002
18 SPriNG, BIaS.....eeiiiiiiiiiiie it 1 538170-003
19 + SPring, ROCKEN ... 1 550002-001
20 + O-Ring:
BUNA-N.. oo 2 641069-428
V41 (o o TS 2 640894-440
o = TR 2 641560-441
21 + O-Ring:
BUNA-N.. oo 1 640888-024
V41 (o o TS 1 640894-426
o = TR 1 641560-424
22 Pin, Cotter 1/16 X 1/2" ... 2 001095-401
23 [ 10 T I 11T SRR 1 006023-002
24 {0 To JR = [0 Y- | N 1 538159-001
25 SCreW, 5/16-18 X 1" ... 6 002225-401
26 SCreW, 7/16-14 X 1" ... e 8 014168-400
27 TUDE, VENL... ..ot 1 538753-001
28 WaSheEr, FIat ......oveeiiiiieeee e 2 002801-400
29 A4 = T 1] g o Yo R 3 005907-800

+ Recommended stock.

@1 When ordering strainer baskets, specify mesh required. Suffix number indicates mesh. Baskets available in
10, 20, 40, and 80 mesh.

@2 Self tapping screw will work on tapped and non-tapped blocks.

@3 Components can only be used if the original assembly was purchased from Ellerbek, Germany facility.
Components must be purchased through Ellerbek, Germany.

R Indicates change since last revision.

Page 2 « PO03006 Issue/Rev. 0.0 (9/12)



PO03006 has replaced publication number P0105.XX which has been made OBSOLETE.
PO03006 is a total revision from previous document P0105.XX.
Total Revision.

The specifications contained herein are subject to change without notice and any user of said specifications should verify from the manufacturer that the specifications are currently
in effect. Otherwise, the manufacturer assumes no responsibility for the use of specifications which may have been changed and are no longer in effect.

Contact information is subject to change. For the most current contact information, visit our website at www.fmctechnologies.com/measurementsolutions and click on the
“Contact Us” link in the left-hand column.

Headquarters:

500 North Sam Houston Parkway West, Suite 100, Houston, TX 77067 USA, Phone: +1 (281) 260 2190, Fax: +1 (281) 260 2191

Measurement Products and Equipment: Integrated Measurement Systems:

Erie, PA USA +1 (814) 898 5000 Dubai, United Arab Emirates +971 (4) 883 0303 Corpus Christi, TX USA +1 (361) 289 3400
Ellerbek, Germany +49 (4101) 3040 Los Angeles, CA USA +1 (310) 328 1236 Kongsberg, Norway +47 (32) 286700
Barcelona, Spain +34 (93) 201 0989 Melbourne, Australia +61 (3) 9807 2818 Dubai, United Arab Emirates +971 (4) 883 0303
Beijing, China +86 (10) 6500 2251 Moscow, Russia +7 (495) 5648705

Burnham, England +44 (1628) 603205 Singapore, +65 6861 3011

Visit our website at www.fmctechnologies.com/measurementsolutions

Printed in U.S.A. © 8/12 FMC Technologies Measurement Solutions, Inc. All rights reserved. PO03006 Issue/Rev. 0.0 (8/12)





